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5/6\9\\ Linearized knot diagam
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\\_‘ Solving Sequence
1

37>411-8—>6—>5—>2—>1—>12->10 > 9 —>> C4,(8,C12
A knot diagranﬂ G C9

C6 C5 C2 1 €11 Cio
Ideals for irreducible component#ﬂ)f Xpar

It = (1052u'® 4 1602u'? + - - - + 303b + 1332, a — 1,
ut + w4 2ut? F ot 460t 4 4u® + 4u® + o7 4 6ub + 4u® — 203 — 40 + du — 1)

I3 = (—9.89889 x 10"'u°" — 3.65306 x 10'*%u® + - - - 4+ 1.87725 x 10'**b + 2.30550 x 10'%%,
— 1.95314 x 10123457 — 7.22784 x 10'%34°% 4 ... + 3.00360 x 10'%3a + 3.04298 x 1024,
uP® 4+ 4T 4 - — 32u — 4)

Iy =W +b+2, a+1, v* —u?+2u—1)

I} = (-2au+b+2u—1, wa+a?—au+3uP+a—u+5, v —u?+2u— 1)

IF=(b+2u+3, a v’ +u—1)

IV = (a, 3b+2v+ 13, v* + Tv + 1)

* 6 irreducible components of dim¢ = 0, with total 85 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

I.

I* = (1052u'® + 1602u'? +--- +303b+ 1332, a — 1, u* +u'3 4. ..

(i) Arc colorings

w=0)
)
;)

a7 =

ag =
1
3.47195u'® — 5.28713u!'? + - - - + 16.2145u — 4.39604

—Uu

1.81518u'® 4 2.61716u'? + - - - — 8.49175u + 3.47195)

ag =

0.264026u'® + 0.356436u'? + - - - — 0.392739u + 0.801980
0.276128u'® — 0.611661u'? + - - - + 1.62046u + 0.179318

0.264026u'3 + 0.356436u'2 + - - - — 0.392739u + 0.801980
0.375138u!3 + 0.578658u2 + - - - — 1.72607u — 0.0869087

0.639164u:!'3 + 0.935094u:'2 + - - - — 2.11881u + 0.715072 )

a5 =
ag =

0.375138u'® + 0.578658u'% + - - - — 1.72607u — 0.0869087

0.106711u'3 + 0.0385039u'2 + - - - + 0.567657u + 0.558856
—3.35314u'® — 4.99340u'2 + - - - + 15.5545u — 4.81848

w2 +1

4.27393u'® — 6.35314u!'2 + - - - 4+ 20.0033u — 6.21122

0.573157u'® + 0.512651u'? + - - - — 0.937294w + 1.09791
a9 = \ —1.34103u'3 — 2.07151u'? + - - - 4+ 6.66007u — 2.46645

a0 =

(
(
e
(
= (%)
(¢
(
(
=
ol

(ii) Obstruction class = —1
— 1196,13 | 1124 12 _ 3188, _ 3026
(iii) Cusp Shapes = S53u'” + Jru™” + - 205 % — o1

+ 4u — 1)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C11 Wt 9P 4+ 16u+1
Ca,Cyq, C
2,04,09 u14—3u13+--~—2u—1
C12
C3,Cq, C
3,06, C7 u14_u13+..._4u_1
€10
Cs, C8 Wt —Tu? =240+ 8




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C11 y14—5y13—|—-~-—208y—|—1
Co,Cq4,Cg y14_9y13+_16y+1
C12
C3,Cg, C7 y14+3y13+—8y+1
€10
cs, cg y' —Ty' 4 384y + 64




(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—1CS) Cusp shape
u = —0.985278
a = 1.00000 —10.4546 —24.6220
b= 0.711293

u = —0.336026 + 0.9799531
a = 1.00000
b= 0.255618 — 1.0690101

3.75566 — 0.172441

—4.31674 + 1.336221

u = —0.336026 — 0.9799531
a = 1.00000
b= 0.255618 + 1.0690101

3.75566 + 0.172441

—4.31674 — 1.336221

u = 0.811264 4 0.8699091
a = 1.00000
0.73524 4+ 1.211821

—1.563918 — 8.577951

—13.9694 + 8.69201

u = 0.811264 — 0.8699091
a = 1.00000
0.73524 — 1.211821

—1.53918 + 8.577951

—13.9694 — 8.69201

u = —0.920950 4 0.7944721
a = 1.00000
2.22969 — 0.564001

—7.24910 — 2.928071

—16.0849 4 1.68521

u = —0.920950 — 0.7944721
a = 1.00000
2.22969 + 0.564001

—7.24910 + 2.928071

—16.0849 — 1.68521

u = 0.685146 + 1.1548401
a = 1.00000
1.095700 + 0.836675.1

1.33116 — 5.508741

—7.69545 + 3.700761

u = 0.685146 — 1.1548401

a = 1.00000 1.33116 + 5.508741 | —7.69545 — 3.700761
b= 1.095700 — 0.8366751

u = 0.495258

a = 1.00000 —0.942520 —9.45120

b= —0.192497




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u = —0.90906 + 1.210011

b:

1.00000
1.54300 — 1.482681

—4.9818 +17.05161

—13.2441 — 9.43001

uw = —0.90906 — 1.210017

b:

1.00000
1.54300 + 1.482681

—4.9818 — 17.05161

—13.2441 4 9.43001

0.414634 + 0.2213021
1.00000
3.88135 4 1.291311

—2.88995 + 0.466601

—33.6526 + 15.64041

0.414634 — 0.2213021
1.00000
3.88135 — 1.291311

—2.88995 — 0.466601

—33.6526 — 15.64041




II. I¥ = (—9.90 X 102457 — 3.65 X 1022456 + ... 4+ 1.88 x 10*22b + 2.31 X
10123, —1.95 x 1023457 — 7.23 x 10123456 4 ... 4 3.00 x 10'%3a + 3.04 X
10124, 458 + 4u®7 4 ... — 32u — 4)

(i) Arc colorings

=0
)
)

0.650266u°" + 2.40639u°% 4 - - - — 29.2651u — 10.1311
0.527307u®" + 1.94596u56 + - - - — 22.7262u — 12.2812

0.436407u°" + 1.53830u%6 + - - - — 28.9670u — 2.62090
0.0748277u5" — 0.332438u%% + - - - — 0.473003u + 4.86221

a7 =

0.168206u>" — 0.619830u’% + - - - + 8.16456u + 2.60510
—1.28188u°7 — 4.65236u + - - - + 75.0228u + 14.7864 )

—1.28188u" — 4.65236u° + - - - + 75.0228u + 14.7864 )

ag =

0.0117219u°7 — 0.0393795u’6 + - - - + 1.91334u — 0.704417

—1.29360u%" — 4.69174u%6 + - - - + 76.9361u + 14.0819
0.0117219u57 — 0.0393795u%% + - - - + 1.91334u — 0.704417

2.62838u°" — 9.50925u°6 + - - - + 161.265u + 25.9962
0.376226u57 + 1.39349u5% + ... — 13.2103u — 10.9310

1.25102u°7 + 4.66027u"6 + - - - — 63.7398u — 18.6633
a10 = \ 0.372290u°7 4+ 1.46092u°6 + - - - — 14.41544 — 13.9819

( —3.61469u57 — 13.0974u + - - - + 213.519u + 37.6085 )
ag =

[

(
(1
o=
(-
e (%)
(-
(-
(
2= (0
(

—0.129312u°7 — 0.407792u%6 + - - - + 12.1768u — 2.92917

(ii) Obstruction class = —1

(iii) Cusp Shapes = 8.07218u" + 30.8062u°¢ + - - - — 296.329u — 286.736



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C11 w4320+ 4+ 25u+1
2,649 u?® — 4w’ 4 4 Bu+1
C12
€3, 6, C1 uw’® — 4T 4 4+ 32u— 4
€10
cs5,C8 (u® +2u*® - — 28u — 8)2




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C11 Y — 8y 4+ 4195y + 1
Co,Cq4,Cg y58_32y57_~_._._25y+1
C12
€3, 6, C7 Yo +18y57 + - — 984y + 16
€10
cs, cg (y*? — 28y°% + - - - + 2896y — 64)°




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 Vv—1(vol +/—1C5) Cusp shape
u = —0.721948 4- 0.6757071
a = —1.050020 + 0.4476541 2.03816 + 4.436431 —7.12586 — 5.706651

b= —0.511195 + 1.3171001

u = —0.721948 — 0.6757071
a = —1.050020 — 0.4476541 2.03816 — 4.436431 —7.12586 + 5.706651
b= —0.511195 — 1.3171001

u = —0.244212 4 0.9071471
a=—1.73124 + 0.128311 4.34822 4 5.301291 —10.14110 — 5.919711
b = —0.254583 + 0.5691171

u = —0.244212 — 0.9071471
a=—1.73124 — 0.12831] 4.34822 — 5.301291 —10.14110 4 5.919711
b= —0.254583 — 0.5691171

u= 0.578373 + 0.8930181
a = —0.516169 — 0.639005] | —1.15248 +2.979071 | —12.00000 + 0.1
b= 0.175167 — 1.0771301

u= 0.578373 — 0.8930181
a = —0.516169 + 0.6390057 | —1.15248 —2.979071 | —12.00000 + 0.1
b= 0.175167 + 1.0771301

u = —0.676773 4 0.8243971
a = —0.377087 — 1.2931501 | —4.05295 4+ 3.42058] | —12.00000 + 0.1
b = —0.982001 + 0.4584441

u = —0.676773 — 0.8243971
a = —0.377087 + 1.2931501 | —4.05295 — 3.42058] | —12.00000 + 0.1
b= —0.982001 — 0.4584441

u = 0.978563 + 0.4406621
a= 0.331345 + 0.6278431 | —0.488787 — 0.3704621 | —12.00000 + 0.1
b= —0.228672 + 1.1381601

u = 0.978563 — 0.4406621
a= 0.331345 — 0.6278431 | —0.488787 4 0.3704621 | —12.00000 + 0.1
b= —0.228672 — 1.1381601

10



Solutions to I3

V=1I(vol + /=1CS)

Cusp shape

= —0.012023 + 0.9208051
= 1.65342 — 0.022801
0.209786 — 0.3079151

4.90257 — 1.343291

—7.80264 + 1.362251

—0.012023 — 0.9208051
= 1.65342 + 0.022801
0.209786 + 0.3079151

4.90257 4 1.343291

—7.80264 — 1.362251

—0.580576 + 0.9216581
= —1.003690 — 0.2282491
—1.66287 4- 0.181131

—3.74876 + 1.543411

—0.580576 — 0.9216581
—1.003690 + 0.2282491
—1.66287 — 0.181131

—3.74876 — 1.543411

0.793089 + 0.7925471
= —0.947329 — 0.2154311
—1.66287 — 0.181131

—3.74876 — 1.543411

0.793089 — 0.7925471
—0.947329 + 0.2154311
—1.66287 4 0.181131

—3.74876 + 1.543411

0.272105 + 0.8305321
—0.764969 — 0.9470141
0.175167 4+ 1.0771301

—1.15248 — 2.979071

—9.53425 + 4.844291

0.272105 — 0.8305321
—0.764969 + 0.9470141
0.175167 — 1.0771301

—1.15248 + 2.979071

—9.53425 — 4.844291

0.455577 + 1.0326901

= —0.805887 + 0.3435731 2.03816 — 4.436431 0
= —0.511195 — 1.3171001

0.455577 — 1.0326901
= —0.805887 — 0.3435731 2.03816 + 4.436431 0

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
Il

= —0.511195 4 1.3171001

11



Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —0.802696 + 0.8747671
—0.085771 4 0.9963151
0.307471

—7.39364

—0.802696 — 0.8747671
= —0.085771 — 0.9963151
0.307471

—7.39364

—1.031050 + 0.6385731
= —0.116942 — 1.0160901
—0.777038 — 0.5857211

—3.19564 — 4.353081

—1.031050 — 0.6385731
—0.116942 4 1.0160901
—0.777038 4- 0.5857211

—3.19564 + 4.353081

—0.797235 + 0.9142211
1.140830 — 0.2686291
1.25483 — 0.741171

—7.27243 + 6.006531

—0.797235 — 0.9142211
1.140830 + 0.2686291
1.25483 + 0.741171

—7.27243 — 6.006531

0.047575 + 0.7603951
0.657460 — 1.2457801
—0.228672 4 1.1381601

—0.488787 — 0.3704621

—8.36692 4 2.506401

0.047575 — 0.7603951
0.657460 + 1.2457801
—0.228672 — 1.1381601

—0.488787 +4- 0.3704621

—8.36692 — 2.506401

0.769423 + 0.9729651

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g

= —0.777038 4+ 0.5857211

= —0.111786 + 0.9712951 | —3.19564 — 4.353081 0
= —0.777038 — 0.5857211
= 0.769423 — 0.9729651
= —0.111786 — 0.9712951 | —3.19564 + 4.353081 0

12



Solutions to I3 V—=1(vol + /=1CS) Cusp shape
u = —0.824653 + 1.0128901
a= 0.164016 + 1.106820 | —6.56035 + 9.361527 0
b= 1.240200 — 0.4345901
u = —0.824653 — 1.0128901
a= 0.164016 — 1.106820] | —6.56035 — 9.361521 0
b= 1.240200 + 0.4345901
u=0.202324 4 1.3312401
a = —0.027585 4 0.3755831 1.81502 — 2.879981 0
b= —0.20707 — 3.333411
u= 0.202324 — 1.3312401
a = —0.027585 — 0.3755831 1.81502 + 2.879981 0
b= —0.20707 + 3.333411
u = —0.803948 4 1.1312301
a = —1.108550 4 0.0443271 | —1.66044 + 11.012507 0
b= —1.28128 +1.273531
u = —0.803948 — 1.1312301
a = —1.108550 — 0.0443271 | —1.66044 — 11.012507 0
b= —1.28128 — 1.273531
u= 0.601388
a = —0.244736 —2.67255 —211.680
b= —7.40752
u=0.557093 + 0.1958711
a= 0.779962 — 0.6258271 | —0.942618 —9.31087 + 0.1
b= —0.0910519
u=0.557093 — 0.1958711
a= 0.779962 4 0.6258271 | —0.942618 —9.31087 + 0.1
b= —0.0910519
u = —0.66392 + 1.257137
a= 0.830507 + 0.1955581 | —7.27243 + 6.006531 0

b= 1.25483 —0.741171

13



Solutions to I3

V=1(vol + v=1CS)

Cusp shape

= —0.66392 — 1.257131
= 0.830507 — 0.1955581
1.25483 + 0.741171

—7.27243 — 6.006531

1.32127 + 0.564301
= —0.207826 + 0.7127021
—0.982001 + 0.4584441

—4.05295 + 3.420581

1.32127 — 0.564301
—0.207826 — 0.7127021
= —0.982001 — 0.4584441

—4.05295 — 3.420581

= —1.25634 + 0.746611
= 0.131009 + 0.8840781
= 1.240200 + 0.4345901

—6.56035 — 9.361521

= —1.25634 — 0.746611
0.131009 — 0.8840781
= 1.240200 — 0.4345901

—6.56035 + 9.361521

0.513312 + 0.1011321
0.925268 — 0.3793131
—0.165385

—0.942376

—9.38299 + 0.1

0.513312 — 0.1011321
= 0.925268 + 0.3793131
= —0.165385

—0.942376

—9.38299 + 0.1

= —0.505572 + 0.0392671
= —0.19450 — 2.648241
= —0.20707 — 3.333411

1.81502 — 2.879981

—58.6220 + 17.51851

= —0.505572 — 0.0392671
= —0.19450 + 2.648241
= —0.20707 + 3.333411

1.81502 + 2.879981

—58.6220 — 17.51851

= 0.00112 + 1.522751
= 0.604691 + 0.0083401
= 0.209786 — 0.3079151

4.90257 — 1.343291
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Solutions to I¥ V—1(vol + /—1CS) Cusp shape
u = 0.00112 — 1.522751
a= 0.604691 — 0.0083401 4.90257 + 1.343291 0
b= 0.209786 + 0.3079151
u = —1.52437
a= 0.237820 —10.6310 0
b= 0.405949
u = 0.84107 4 1.289671
a = —0.900638 + 0.0360147 | —1.66044 — 11.012501 0
b= —1.28128 — 1.273531
u = 0.84107 — 1.289671
a = —0.900638 — 0.0360147 | —1.66044 + 11.012507 0
b= —1.28128 + 1.273531
uw=0.30639 + 1.601831
a = —0.574465 + 0.0425781 4.34822 — 5.301291 0
b= —0.254583 — 0.5691171
uw= 0.30639 — 1.601831
a = —0.574465 — 0.0425781 4.34822 + 5.301291 0
b = —0.254583 4+ 0.5691171
u = —0.362526
a= 4.20485 —10.6310 —48.5360
b= 0.405949
u = —0.147181
a = —4.08603 —2.67255 —211.680
b= —7.40752

15



L I = (u?*+b+2,a+1, u* —uw?+2u—1)

(i) Arc colorings

w= (o)

0
a?— u
1
a4— u2
-1
a1 =\ —y? -2
—u
ag = \—u?+u—1
u
ag = \u? —u+1
u
as = \u? —u+1
u
a2: —Uu
0
a1: —u
-1
a2 = \ —2y% — 2
—u?—1
a0 =\ —u2+u—3

(ii) Obstruction class =1

(iii) Cusp Shapes = —8u? + 8u — 20

16



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,C3,C

1,€3,C7 u3_u2+2u_1

C11

C2,Co wW4u?—1

C4,C12 w—u? 41

Cs,C8 u3

3 2
C6,C10 u’+u+2u+1

17



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,Cg y3+3y2+2y_1
€7, €10, C11
C2,C4,Cg y3_y2+2y_1
C12
C5,C8 313

18



(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1(vol + y/=1C)

Cusp shape

u =

a = —1.00000

b= —0.337641 — 0.5622801

0.215080 + 1.3071401

6.04826 — 5.656241

—4.98049 + 5.958891

uw=0.215080 — 1.3071401

a = —1.00000

6.04826 4 5.656241 | —4.98049 — 5.958891
b= —0.337641 + 0.5622801
u=0.569840
a = —1.00000 —2.22691 —18.0390
b= —2.32472

19



IV.
Iy =(—2au+b+2u—1, v?at+a®*—au+3u?+a—u+5, ud—u?+2u—1)

(i) Arc colorings

o ()

—au+2uP+a—u+3
au+2u —u+4

a5 =

ag =

a
w?a + 2au — 2u + 1)

—au—+u?+1
—2u2a + 3au+ u? — 2a — 3u+3

—au+2u+a—u+3
ag = au—+2uZ—u+4

(ii) Obstruction class =1

(iii) Cusp Shapes = 11u%a + 5au — 5u + 15

20



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, ¢35 C7 (u? —u® + 2u— 1)
C11

2, Cg (u® +u? —1)?

C4,C12 (u® —u? +1)?

Cs,C8 u6

2 2
C6,C10 (u3—|—u +2u+1)

21



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,Cg (y3+3y2+2y_1)2
€7, €10, C11
C,C4,C9 (y3_y2+2y_ 1)2
C12
C5,C8 316

22



Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C5)

Cusp shape

u = 0.215080 4 1.3071401
0.947279 + 0.3204101

0.139681

a =

b:

6.04826

—6.45445 4+ 0.1

0.215080 + 1.3071407
—0.069840 + 0.4244521
—0.56984 — 2.614281

1.91067 — 2.828121

9.7272 — 14.72921

0.215080 — 1.3071401
0.947279 — 0.3204101
0.139681

6.04826

—6.45445 4+ 0.1

0.215080 — 1.3071407
—0.069840 — 0.4244521
—0.56984 + 2.614281

1.91067 + 2.828121

9.7272 + 14.72921

0.569840
—0.37744 + 2.293871
—0.56984 + 2.614281

1.91067 + 2.828121

9.7272 + 14.72921

0.569840
—0.37744 — 2.293871
= —0.56984 — 2.614281

a
b
U
a
b
U
a
b
U
a
b
U
a
b

1.91067 — 2.828121

9.7272 — 14.72921

23



V. Iz

(i) Arc colorings

w= (o)

a9 =

a; =

(ii) Obstruction class =1

(iii) Cusp Shapes = 29

(b+2u+3, a, u2+u—1)

24



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2
c1,Cs u®—3u+1
2
C2,C3 u +u—1
2
C4,Cq u—u—1
2
€7, C10 u
Cs u? 4+ 3u+1
2
Cg,C11 (’LL — 1)
2
C12 (’LL -+ 1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C5,C8 Yy —Ty+1
C2,C3,C4 y2_3y+1
Co
7, C10 s
2
Cg,C11,C12 (y—1)

26



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/=1CS) Cusp shape
U 0.618034
a= 0 —2.63189 29.0000
b= —4.23607
u = —1.61803
a= 0 —10.5276 29.0000
b= 10.236068

27



VL I? = (a, 3b+2v+ 13, v2 4+ Tv + 1)

(i) Arc colorings

v
a7 = \(
1
ayq = 0
0
an=\-2y-
(302
= 1 8
as —3U—3
v
as = \(
5 1
(F7)
a5 = 1
o+ 4
as = —1
Su+}
ayp = —1
13 2
o= (0075)
3V 3
5
o4
aio =\ —v—=06
ag = -3

(ii) Obstruction class =1

(iii) Cusp Shapes = 29
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1,6 (u—1)?
C3, Cp u2
Cy 1)2
(u+1)
2
C5,C11 u” —3u—+1
2
c7,Cy u”+u—1
Cs u? 4+ 3u+1
2 1
€10, C12 u—u—
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
2
C1,C2,C4 (y_l)
€3,Ce y2
C5,C8,C11 y2_7y+1
077 Cg7 C10 y2 _ 3y + 1
C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—1CS) Cusp shape
v = —0.145898
a= 0 —2.63189 29.0000
b= —4.23607
v = —6.85410
a= 0 —10.5276 29.0000
b= 0.236068
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VII. u-Polynomials

Crossings u-Polynomials at each crossing
c1, 11 (u—1)*)(u?=3u+1)(u® —u® +2u— 13 +9u® 4+ - +16u+ 1)
(w4 3207 4 -+ 25u + 1)
¢z, o (u—1)W?+u— 1D +u? =13 =3B+ —2u—1)
(u® = 4T+ Bu+ 1)
cs, Cr w4+ u— 1D —u? +2u— 13w —u® - —du—1)
(u®® — 4T 4 4 32u — 4)
C4. ¢l (u+ 1D W? —u— 1) —u? + 1) = 3u® 4+ —2u—1)
(U — 4T+ Bu 1)
cs u?(u? — 3u+ 1) (u' — Tu® 4 - — 24u 4 8)
(U 4 2u® - — 28u — 8)?
¢o, C10 w?(u? —u— 1) +u? +2u+ 13w —u® 4 —du - 1)
(U = 4uST 4 4 32u — 4)
cs uf(u? + 3u+ 1) (u' — Tu® 4 - — 24u 4 8)
(U 4 2u? - — 28u — 8)?
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VIII. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,c11 (y =D = Ty + D(* + 3y + 2y = 1)°(y** = 59" +--- — 208y + 1)
Sy =8y -+ 195y + 1)
€2, €4, C9 (y =D =3y + Dy —y* +2y = 1°(y" =9y + - — 16y + 1)
C12 Sy =32+ =25y + 1)
€3, Cp, C7 vV =3y + D+ 37 +2y — 13y + 3y - =8y + 1)
€10 (yP + 18y 4 -+ - — 984y + 16)
cs. cs Yy —Ty+1)°(y" — Ty" + - + 384y + 64)

(% — 28y%8 4 -+ + 2896y — 64)>
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